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. of & £ o ¢ 163,712,200 138,629,720
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El Z = 0 1,088,587 0
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(1) ¢ e N 53,029,067 625,995,301
= =1 3,336,027 531,634
= = of =2 49,489,310 21,377,574
y 71 o H 3 24,630 600,000,000
o| &= = 179,100 0
of x| = 0 545,419
M = = 0 3,540,674
(2) o X M 0 0
. d F & A & 166,574,784 166,574,784
(1) & N PN 0 0
(2) w g Xt & 66,574,784 66,574,784
H = 5,003,745 5,003,745
A B N A % B 2,068,631 2,935,114 2,068,631 2,935,114
Al A S | 63,639,670 63,639,670
(3) # = PN 0 0
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2 A 02 z 2 100,000,000 100,000,000
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ct 721 % o 2 67,000,000 400,000,000
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. Xt 2 9 o 3JF 0 0
. Xt = = S| 3,380,000 0
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